
s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s dd{t ;+ef/ sf]if             175,000.00 

v k'a{wf/ lasf; tkm{ 

1

lslt{k'/ kGy] abf{sf]6 cfgGbL eGHofË df]6/af6f] :t/pGglt 

of]hgf
            250,000.00 

2 sfl;ag uhaGbL x'b} j8f sfo}no hfg] df]6/af6f] of]hgf             150,000.00 

3 kGy] 5Ds] df]=af] :t/pGglt of]hgf               90,000.00 

4 dh/sf]6 rg}6] df]= af] lgdf{0f of]hgf               50,000.00 

5

abf{sf]6 lrxfg8fF8f km's]{rf}/ s'd}8f8f ds}8f8f j8f sfo{no 

hfg] af6f] dd{t of]hgf
              53,000.00 

6 :ofpln ahf/ ;fvbL{ km's]{rf}/ df]= af= :t/pGglt of]hgf             102,000.00 

7 v6fË uhaGbL 7"nf] kw]/f df]=af= :t/pGgtL of]hgf               51,000.00 

8 s'jfbL d]N5]8f8f df]=af=:t/pGglt of]hgf               51,000.00 

9 ef/sf]6 eGHofË a];f/8f8f ldemf/] df]=af= of]hgf               51,000.00 

10 s7]}8fF8f ;fvlb{ df]=af= :t/pGglt of]hgf               51,000.00 

11 sl/8f]/b]lv 7'lna]l; df]=af]=:t/pGglt of]hgf               51,000.00 

12 lslt{k'/ j}8f lg:bLvf]nf emf]=k' dd{t of]hgf               50,000.00 

u l;rfO{ tkm{ 

1 5Ds] a8x/] zfvf s'nf] lgdf{0f{ ,dd{t of]hgf               50,000.00 

2 tNnfx8 a/fbL cfoG6fl/ l;rfO{ s'nf] :t/pGglt of]hgf               50,000.00 

3 u}/f kgfl/ l;rfO{ s'nf] :t/pGglt of]hgf               50,000.00 

4 7'nLa]l; l;rfO{ s'nf] :t/pGglt of]hgf               50,000.00 

5 v6fË s'nf] :t/pGglt of]hgf               50,000.00 

3 ;~rf/ 

1 ;'rgf k|afx tyf ;+rf/               50,000.00 

ª ;fdflhs ljsf; tyf lzIfftkm{

1 >L z+s/ cfwf/e't ljwfno -em\ofn 9f]sf_               80,000.00 

2

>L afnlxt k|f =lj xfFu]lkkn uf|pG8 dd{{t tyf :j0f dxf]T;a 

sfo{qmd 
              80,000.00 

3 >L 1fg dGhl/ k|f=lj=               70,000.00 

4 >L zfGtL k|f=lj=               70,000.00 

r :jf:Yo tkm{

1 :jf:Yo rf}ls kGy]               25,000.00 

2 cfo"j]{b cf};wfno km'sn8fF8f               50,000.00 

5 vfg]kfgL tkm{

1 kf]v|]nufp s}8]ln / cf]Vn] vf=kf= lgdf{0f of]hgf               50,000.00 

2 lrxfg8f8f vf=kf= of]hgf               50,000.00 

3 ;fvlb{ dflyNnf]y/ kmh'jf vf=kf= of]]hgf               50,000.00 

4 ;fvlb{ dfemy/ tNnf]y/ vf=kf= of]hgf               50,000.00 

5 s"d}8fF8f uf]7fl/ ds}8fF8f lul4vf]nf vf=kf= of]hgf               50,000.00 

6 7"lna]l; vf]=kf= of]hgf             100,000.00 

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= !   sf] j8f ;ef af6 l:js[t 

eO{ cfPsf of]hgfsf] laa/0f M



7 lkkn8fF8f :ofplnahf/ vf=kf= of]hgf               50,000.00 

8 v6fË w}/]lg vf=kf= of]hgf               50,000.00 

9 dnfem|ofË 5fk vf=kf= of]hgf               50,000.00 

10 5kfSbL vf=kf=of]hgf               50,000.00 

11 rkfSbL kfn]ag vf=kf= of]hgf               50,000.00 

h ;:s[lt k|aw{g tkm{ 

1 k/Dk/fut kmf]lS;Ësf]6 kGy] 5Ds] ;:s[lt ;+/If0f sfo{qmd               50,000.00 

2 j8f :tl/o v]ns'b sfo{qmd               50,000.00 

em cfly{s ljsf; tkm{ 

1 s[lif Aofj:yfkg ,pGgthft ljpljhg tyf cg';Gwfg             100,000.00 

2 6fk'wfd dlGb/ Aofj:yfkg               50,000.00 

3 abf{sf]6 gd'gf du/ ufpF Aofj:yfkg of]hgf               50,000.00 

` nlIft ;d'bfo tkm{ 

1 cf/g Aofj:yfkg SjfËSjfË               50,000.00 

2 dlxnf ;fd'bflos eag s"d}8fF8f               50,000.00 

3 afnaflnsf ckfFË hghflt nlIft sfo{qmd               80,000.00 

4 dlxnf ;;lSts/0f               50,000.00 

6 ;+:yfut ljsf; ;]jf k|afx tkm{ 

1 klGhs/0f Aofj:yfkg               50,000.00 

2 s]nflbrf]ls kmlg{r/ vl/b of]hgf               20,000.00 

3 cg';Gwfg tyf tYofËs ;+sng             100,000.00 

4 cg'udg vr{÷j8f e]nf               50,000.00 

7 jftfj/0f Pj+ ljkb\ Aofj:yfkg

1 jfl9klx/f] tyf s6fg lgoGq0f . Ljkb Aofj:yfkg             100,000.00 

2 ;fd'bflos Pj+ ;/sfl/ jg ;+/If0f             100,000.00 

8 ljljw sfo{qmd

1

j8f sfo{no ejgdf ;fa{hlgs zf}rfno tyf vf=kf= 

Aofj:yfkg 
            100,000.00 

s"n hDdf ljlgof]lht ah]6 ?          3,500,000.00 



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s ;8s cGt{ut 

1 b]jL:yfg at/f x'b} ;d;fg3ft df] af dd{t 250000.00

2
enfo6f/ vo/af]6 sfutL8f8f kGy] df]= af= lgdf0f{ 6\ofs 

vf]Ng] 200000.00

3 ufu\uL cfk /fgL3f6 df]= af= lgdf0f{ 150000.00

4 aGs§f3f6 sfutL8f8f -cqaf;_ df]= af= lgdf0f{ 100000.00

5 s[0ffb]aL b]vL vfs\L df]= af= lgdf0f{ 100000.00

6 vo/af]6 v]nd}bfg b]vL a]a/] df]= af= lgdf0f{ 150000.00

7 b'uf{b]aL dGbL/ b]vL x/Lt dfu{ df]= af= dd{t 70000.00

8 y'DsL df]= af= lgdf0f{ cqaf; 50000.00

9 a8x/] ;L/Lg8f8f /x'dsf]n df]= af= lgdf0f{ 70000.00

10 gL:bLvf]nf cfdaf/L wf/fvf]nf c8df/f df]= af= dd{t tyf 

lgdf0f{ 80000.00

11 sLk6 /ftf9Ls uwfkfgL df]= af= lgdf0f{ 50000.00

12 ;]G6f/ af]6]gLdf/f df]= af= lgdf0f{ 50000.00

v  vfg]kfgL cGtu{t

1
b]p/fnL l;l/g8f8f rf}/af/L  afnsNof0f k|f= la= vf= kf= 

tyf ;/;kmfO{ 100000.00

2 enfo6f/ vfg]kfgL of]hgf 100000.00

3 lul4vf]nf rkfSbL v:bL vfg]kfgL of]hgf 70000.00

4
u0ffbL /df}lb ;]/f w'lnafl/ w}/]gL hdf}bL vfg]kflg of]hgf 80000.00

5 vo/af]6 wg;f/afl/   cwdf/f vfg]kfgL lgdf{0f 60000.00

u ejg  lg{df0f

1 vo/af]6 dlxnf ;fd'bflos ejg lgdf{0f 200000.00

2 zxl/ SnLlgs ejg lgdf{0f 220000.00

3 b'uf{ dlGb/ lgdf{0f  cqaf; 150000.00

4 enfo6f/ o'jf Snj ejg lgdf{0f 100000.00

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= @   sf] j8f ;ef af6 

l:js[t eO{ cfPsf of]hgfsf] laa/0f M



3 lzIff

1 >L s[i0ffb]lj ;/:jtL dlGb/ tyf sDkfp08 lgdf{0f 50000.00

2 >L  ;/:jtL df lj ejg  lgdf{0f 50000.00

ª l;+rfO{

1 lagfkft] s'nf] dd{t 50000.00

2 ;]/f3fl/ l;Dn] j]n6fl/ s'nf] dd{t 50000.00

3 rfln;]  6fl/ s'nf] dd{t 60000.00

4 af]6]lgdf/f vfl8 s'nf] lgdf{0f  60000.00

r sNe6{

1 k'nrf]s tyf vo/af]6 v]n d}bfg sNe6 lgdf{0f 85000.00

5 s]nflb rf}ls kmlg{r/ vl/b cg'bfg 20000.00

h j8f kl/ifb ÷ a}7s Jofj:yfkg tyf cg'udg 50000.00

em o'jf nlIft sfo{s|d cGt{ut elnansf] kf]n vl/b 75000.00

` ckfË cfocfh{g tyf l;kd'ns sfo{s|d 50000.00

s"n hDdf ljlgof]lht ah]6 ? 3000000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s df]6/ jf6f] tkm{M–

1 l;tf–s'08 nfd6fª cf]O/]3f6 df]=jf dd{t 101000.00

2 nfdL8f8f–7"nLe~HofË–u}n's–8fj|f df]=jf 101000.00

3

dfOyfg–6f8L–vf]/jf/L–/fgfy/–;fls{8f8f df]=jf dd{t / 

lgdf{0f 120000.00

4 ;fgL cd/fO{ em'k|L jflx/L df]=jf6f] lgdf{0f 105000.00

5 h/]j/ 3§f/ l8Nsf df]=jf 101000.00

6 d'/nL8f8f sfdLufFp df]=jf 101000.00

7 hg ljsf; df=lj= sf]6]jf/L 8x/ ;Dd lj:tf/ ug{ 101000.00

8 /}s/ 8f8f ljl8 ! Gf u]8 df]=jf dd{t 51000.00

9 8f8fljl8 ju}+rf e/fbL 3lt{ufFp km]bLs'jf df]=jf 115000.00

10 kfgLjf8f rgf}6] k'nrf]s /ftfl9s s6'jf df]=jf 151000.00

11 u'x]lkkn sfdLufFp b'n{"d5fk nfld8f8f df]=jf 102000.00

12 sl/8f]/ /xvf]nf s'dfnl9s df]=jf 101000.00

13 u'x]lkkn kgf}bL jufxf l;tfs'08 df]=jf 150000.00

14 cf]O/]3f6 emf]=k' eO{ kgf}bL /ftfl9s ;dsf] df]=jf 152000.00

15 jfx|kGyL y/ cfdf8f8f nfd6fª df]]=jf 455000.00

v vfg]kfgL tkm{M–

1

sf]Kr] h/]j/ s]nfbL em'k|L cf/Ls'jf rgf}6] s6'jf3f6 

rfkr/L wf/f vf=kf dd{t 160000.00

2 cfO/]3f6 l;gx nfd6fª tdnf]]s jf/L vf=kf 125000.00

3 rGbgk'/ lslt{k'/ cfn]8f8f 6+sL vf=kf 105000.00

4 6f8L rgf}nL 7"nf] vf=kf dd{t 105000.00

u :jf:Yo tkm{M–

1 jufxf ;fd'bflos vf]k s]Gb| ejg lgdf{0f 101000.00

2 ;fgLcd/fO{ zx/L :jf:Yo OsfO{ sf]7f yk 101000.00

3 l;+rfO{ tkm{M–

1 cfO/]3f6 vf]nf v]t tdnf]s v]t, l;+rfO{ s'nf] dd{t 105000.00

2 d';'jO{ s'nf] jfw dd{t 75000.00

ª ;fd'bflos ejg tkm{M–

1

/}s/ l;+hglzn dft[[ ;d'xsf] nflu 6«; lgdf{0f tyf 

rgf}nL dft[ ;d'x ejg dd{t / cf]O/]3f6 ;fd'bflos 

ejg dd{t 

151000.00

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= #   sf] j8f ;ef 

af6 l:js[t eO{ cfPsf of]hgfsf] laa/0f M



r lzIff tkm{M–

1
jfn lxt k|f=lj sDkfp08 gj b'uf{ k|f=lj sDkfp08 / 

ljB'lts/0f ug{ 101000.00

2 jfn sNof0f cfwf/e't ljBfno sDkfp08 101000.00

3 zflGt k|f=lj=sf] ejg sDkfp08 / ljB'tLs/0f 50000.00

5 6tjGw tkm{M– 

1 cf]O/]3f6 kw]/]vf]nf kf08]y/ jf9L lgoGq0f 50000.00

h v]ns'b tkm{M–

1 # g+ j8f :tl/o elnjn v]n ;~rfngsf nflu 101000.00

em cfocfh{g tkm{M–

1

cf]O/]3f6df t/sf/L g;{/L / t/sf/L v]tL, lslt{k'/df 

t/sf/L v]tL / g;{/L, jf]6]ufFpdf t/sf/L g;{/L / 

t/sf/L v]tL ;d'xdf ug]{ / gd'gf cfdf ;d"xnfO{ d'9f 

j'Gg] tflnd ug]{ 62000.00

s"n hDdf ljlgof]lht ah]6 ? 3500000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s df]6/ jf6f] tkm{M–

1
n:s/] b]vL Jof; dlGb/ x'b} ;'s jxfb'/ s'dfnsf] 3/ ;Ddsf] / 

sf]Kr] emf]=k' ;Dd hf]8\g  df]=jf :t/ pGglt 

130000.00

2 >[hgf rf]s b]vL–O:nfdk'/–l;d'/]6f/ hf]8\g] df]=jf 100000.00

3 kf/L b]vL sfF;h/L hfg] kf/L vf]nfdf sNe{6 lgdf{0f 100000.00

4
pN6]v/s 6f]n–6'lge~HofË hfd'g] e~HofË hf]8\g] jf6f] lgdf{0f 

sfo{ k'/f ug{ 

200000.00

5 ;Ltfs'08–k'/fgf] b5f{ hf]8\g] df]=jf lgdf{0f 50000.00

6

tNnf] lulhG8f8f –5ltG8f8f–/]jtLkf]v/f df]=jf :t/ pGglt

100000.00

7 ufdkf]v/f–df}nfy/ sf]63/ hfg] df]=jf lgdf{0f 50000.00

8
jf}4 ljxf/–;'Gb/ 6f]n–nfdL:jf/ df]=jf= / uf]=jf lgdf{0f Pj+ 

dd{t 

75000.00

9
b]jL:yfg–s]d'gf3f/L–d'/]nL8f8f x'b} sf;h/L hf]8\g] df]=jf 

:t/pGglt 

150000.00

10 j8\8f8f–cf?ªsf]6–ldof 6f]n hfg] df]= jf lgdf{0f 50000.00

11
b]jL:yfg v]n d}bfg :t/ pGglt, df:6/ ufFp jf6f] dd{t / 

b]jL:yfg x'b} jfË]k;n hf]8\g] df]=jf :t/ pGglt 

200000.00

12
led;]g 6f]n b]lj:yfg cw'/f] sNe6{, s'nf]df :Nofk, 

l;dln3f/Ldf srj] / ;f7L3/]sf] 3/lt/ :Nofj lgdf{0f 

300000.00

13
cxn] z'Ggt `fd] dl:hb hfg] jf6f] lgdf{0f / ;'j]bf/ u'?ªsf] 

3/–l;b'/] 6f/ ;Dd jf6f] u|fj]n ug{

100000.00

14
led;]g 6f]n lzjdlGb/sf] kvf{n dd{t, sflnsf dlGb/ 

b]jL:yfg / sf]Kr]3f6 lzjdlGb/ dd{t 

50000.00

15
l;tf/fd ;fgf] kw]/f lj>fd :yn / h/]j/ b]vL :nfdk'/ hfg] 

lelq jf6f] lgdf{0f 

100000.00

16 /ftf9Ls–j8\efg df]6/ jf6f] lgdf{0f 25000.00

17 zflGt lbk o'jf sNj ejg lgdf{0f 60000.00

18 afË]k;n af6 O{=k|=sf hfg] af6f] dd{t 50000.00

v lzIff tkm{M–

1 ;Ltf/fd df=lj ;+u|xfno ;'wf/sf nflu 100000.00

2
sflnsf cfwf/e"t ljBfno / nlId cfwf/e't ljBfno dd{t, 

sDkfp08 Pj+ e"–Ifo /f]syfdsf] nflu

100000.00

3 db/;f lg=df=lj / db/;f cxn] z'Ggt g'?nx'bf k|f=lj=  100000.00

u :jf:Yo tyf ;/;kmfO{ tkm{M–

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= $   sf] j8f ;ef af6 

l:js[t eO{ cfPsf of]hgfsf] laa/0f M



1
cfly{s cj:yf sdhf]/ ePsf yk 3/w"/Lx?df zf}rfno lgdf{0f

80000.00

3 vf=kf tkm{M–

1 emn]{ª\bL\, w/fbL, 5ltG8f8f, le/kfgL vf=kf / dflyNnf] 

lulhG8f8f le/kfgL vf=kf kfOk vl/b dd{t

150000.00

2 d'/nL8f8f, s]d'gf3f/L, h's]kFw]/f, w}/]gL vf=kf dd{t 60000.00

3 df:6/ 6f]n vf=kf / lhDjfn 6f]n vf=kf dd{t 70000.00

4 efn'cfFk kFw]/f] dd{t 25000.00

ª l;+rfO{ tkm{M–

1 o; j8f leqsf ljleGg 7fpsf l;+rfO{ s'nf]df x\o'd kfOk ul/ 

l;+rfO{ ;xh u/fpg Psd'i6

150000.00

r nlIft ;d'x tkm{M–

1 o; j8f leqsf ljleGg nlIt ju{sf nflu cfo d'ns, 

lzkd'ns / Ifdtf ljsf;sf nflu tflnd ;~rfng

175000.00

2 h'gtf/f cfdf ;d'x ejg dd{t 100000.00

s"n hDdf ljlgof]lht ah]6 ? 3000000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s vfg]kfgL tkm{

1 nfld:jf/f vfg]kfgL dd{t 40000.00

2 hf]t]8fF8f 25000.00

3 k'h]/L kFw]/f] 25000.00

4 Eofs't] kFw]/f] dd{t 25000.00

5 vhgL vf]nf 30000.00

6 afemf]jf/L 20000.00

7 s]anaf]6] kFFw]/f] 50000.00

v df]6/af6f] tkm{

1 u}/Ls'nf a]+emf8 v]t /fgf6f]n df]6/ af6f] 300000.00

2 ar}gL rf}kf/L eDas v]nd}bfg 200000.00

3 k'/fgf] b/}6f]n b]lv e'Nn]af/L hf]8\g] af6f] 100000.00

4 bw|fg au}rf b]lv b5f{ l;dfgf hf]8\g] df]6/ af6f] 100000.00

5 kf]v/]n 6f]n b]lv k"a{ n:s/] hf]8\g] df]6/ af6f] :t/f]Gglt 100000.00

6 bz{g6f]n df]6/ af6f] 50000.00

7 7'nf]6f/ klZrdsf] 8x/ 50000.00

8
af6'nL rf}kf/L n't]wf/f ;fd'bflos /]l8of] x'Fb} /fdk'/ c:ktfn 

;Ddsf] af6f]

50000.00

9 lr;fkfgL tLgtn] rf}kf/L  u}/f hf]8\g] af6f] ;kmfO{ 25000.00

10 eDas v]nd}bfg b]lv k"j{ s/L8f]/ ;Dd 50000.00

11 t]h k|;fbsf] 3/ b]lv klZrd 8x/,  lztn a:tLsf] 7f8f] 8x/ 50000.00

12 d6]/L nfx'/] 6f]n x'Fb} af+u]k;n hfg] df]6/af6f] 100000.00

13 7'nf]6f/ b]lv ux'F s6'jf ;Dd hf]8\g] df]6/af6f] 75000.00

14 /fdk'/ ;xsf/L u'7L v]t xF'b} a;kfs{ ;Dd 30000.00

15
gx/ clkm; x'Fb} x'nfs hf]8\g] e'nfbL vf]nf df]6/ af6f] df x\o'd 

kfOk tyf kvf{n lg{df0f 

250000.00

16 ;fgL cd/fO{ 6f]n b]lv v/]g 6f]n xl:k6n ;Dd 50000.00

17 x\o'd kfOk vl/b 150000.00

u l;+rfO{ tkm{

1 ;fsL{ 6f/L l;+rfO{ s'nf] dd{t 25000.00

2 /fª\efª\ l;+rfO{ s'nf] dd{t 25000.00

3 s7fg l;+rfO{ s'nf] dd{t  25000.00

4 uf}8fg v]t s'nf] dd{t 100000.00

3 lzIff tkm{

1 afn sNof0f k|f=lj= 75000.00

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= % sf] j8f ;ef af6 

l:js[t eO{ cfPsf of]hgfsf] laa/0f M



2 /fdk'/ lg=df=lj= 100000.00

3 /fdt'n;L df=lj= 75000.00
ª :jf:Yo tkm{

1
Pr=cfO{=eL=P8\; k|efljt kl/jf/ nfO{ cfo cfh{g tyf pkxf/ 

sfo{qmd

50000.00

2 :jf:Yo ladf, lakGg kl/jf/ nfO{ cg'bfg 50000.00

r e';+/If0f tyf jftfj/0f

1 a8\s]h/L klx/f] lgoGq0f 150000.00

5 dlxnf tkm{

1 sfGhL xfp; rf]s ofq' la;f}gL k|ltIffno 50000.00

2 7'nf]6f/ d~r dd{t tyf /+u /f]ug 50000.00

3 ;fgL cd/fO{ ;fd'bflos ejg 80000.00

4 dlxnf clwsf/, ;r]tgf uf]i7L 50000.00

em s[lif tkm{

1
Joj;flos Rofp v]tL cg'bfg / Joj;flos t/sf/L v]tL 

k|f]T;fxg

20000.00

~f jfnjflnsf tkm{

1
jfnjflnsf 5fqj[lQ ;xof]u, jfnSnj k'gu{7g / z}lIfs ;fdfu|L 

ljt/0f tyf ;+:yfut ljsf; tflnd

70000.00

6 blnt tkm{

1 s]jnjf]6] k|ltIffno lgdf{0f tyf dd{t 20000.00

2 sfg'gL ;r]tgf uf]i7L 30000.00

7 h]i7 gful/s

1 h]i7 gful/s ;Ddfg 50000.00

2 o'jf nlIft sfo{qmd

8 o'jf :j/f]huf/ sfo{qmd 50000.00

9
pBf]u Joj;fo k|j4{g, pBf]u afl0fHo ;+3 ;Fusf] ;fem]bf/L 

sfo{qmd

30000.00

0f ;+:s[lt, ko{6g tkm{

1 /fd3f6 k|ltIffno lgdf{0f 100000.00

t ckf+utf

1 ckf+utf x]/rfx ;xof]u, kl/ro kq 30000.00

y nf]kf]Gd'v b/}, s'dfn, af]6] hftLsf]nflu

1 ;r]tgf, sfg'gL clwsf/ ;DjgwL tflnd 30000.00

b ljljw

w j8fut tYof+s ;+sng 100000.00

g cg'udg vr{ 45000.00

k dd{t ;Dxf/ sf]ifjf6

1
eDas s+8]nafsf] 3/ kl5sf] Tof;f]{ af6f] b]vL s/L8f]/ ;Dd 25000.00

2 9'Ë]af/L rf}tf/L b]vL nfdf]rf}tf/L ;Dd df]=af=dd{t 50000.00



s"n hDdf ljlgof]lht ah]6 ? 3500000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s= ef}lts k'jf{wf/ af6f] lgdf{0f tkm{

1
b'uf{ dlGb/ b]lv dfem6f]]n dlg/fd clwsf/L 3/ g]kfg6f/L, 

tfnkf]v/f ,jf;' k|ltIffno b]lv 7f8f] 8x/ 
100000.00

2 sflncfFk ljhok''/ v]]]]]]]]t jfxlj;] rf}kfl/ x'b} 7f8f] v]t 50000.00

3
Kofsn's a'l2dfofsf] 3/ ;]66f/ sf}jf k'5f/ ,lt;d'/] a'N6f/ 

rf]s 
100000.00

4 u}6f/ a'N6f/ k'j{6f/ ;]/f s6/afl/ 100000.00

5

9sfn y/ , d'lvof y/ , j8f ejg l;tf s'dfnsf] 3/ 

kfNkflny/ jf]w/fhsf] 3/ x'b} b]j/fh 9sfnsf] 3/ ;Ddsf] df] 

=af= 

100000.00

6
lji0f' e08f/Lsf] 3/ rf]s b]vL e]if/fh kf9ssf] 3/ x'b} 

s'gfafl/ ;Dd 
50000.00

7 j8f ejg 7'nf]wf/f] jxvf]nf ,l;Dn] af6f] 50000.00

8 ldng3f6 tftf]kflg lj?jf6f]n v/]gaf/L 100000.00

9 ejsf u}/fjf/L Pkm=Pd=hf]8g] df]=af= 50000.00

10 j8] /x b]lv j]njf]6] df]=af= 50000.00

11 :jf/f dmf]n''Ë]k'n b]lv ;'o{ cfrfo{sf] 3/ x'b} d'n tx/f]  50000.00

12 ltnsk'/ emf]n'Ë] k'n b]lv 8Nn] rf}tfl/ ;Dd 50000.00

13 sflncfFk dgsfdgf dlGb/ b]lv ljhok''/ gfln dd{t 50000.00

v= ;fdflhs ljsf; sfo{sd 

1 dfdm6f]n ;'s'Dafl; Joj:yfkg cg'bfg ;xof]u 50000.00

u vfg]]kflg tkm{ 

1 3f]8]d'tf KofSn's vf=kf= dd{t 25000.00

2 r'jfl8 wf/f] ljhok'/ vf= kf= dd{t 25000.00

3 ;]gL kw]/f] vf= kf= dd{t 25000.00

4 :jf/f wf/f] KofSn's lzjwf/f] dd{t 25000.00

5 ltnsk'/ 7'nf] kw]/f] dd{t 25000.00

6 ljhok'/ kf]v/f vf= kf= dd{t 25000.00

7 ltnsk'/ kf]v/f vf=kf= 25000.00

8 sf}jf s8]naf/L vf=kf= 25000.00

3 l;+rfO{ tkm{ 

1
s8]n s'nf] , ltnk'/ s'nf] , l3ld/] s'nf] / ;]lgljl8 __u'9L s'nf] 

dd{t !))))_
160000.00

2 dfdm s'nf], tNnf] s'nf] ,c/f}t] s'nf] dd{t 150000.00

3 sl8jg s'nf] ,sf}jf s'nf] dd{t 100000.00

4 ltnk''/ anf}6] s'nf] dd{t 50000.00

ª sNe{6 tyf x]DkfOk 

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= ^ sf] j8f ;ef af6 l:js[t 

eO{ cfPsf of]hgfsf] laa/0f M



1
leqL af/L k/fh'nL 6f]n b]lv kf]v/]n 6f]n hf]8g] gx/df :n]a 

lgdf{0f , 
20000.00

2
tfnkf]v/f rf}tf/L b]vL /fd k|||||||||||;fb >]i7sf] 3/ hfg] af6f] :n]a 

lgdf{0f 
20000.00

3 tftf]kflg a:tL vf]N;Ldf :n]j jf x]DkfOk 20000.00

r ;+:s[lt tyf ko{6g 

1 8Nn] rf}tf/L d'lg kmn]bf km]b sflnsf dlGb/ lgdf{0f 100000.00

2 tftf] kflg nIdLgf/fo0f dlGb/ dd{t 50000.00

5 cfl{y{s ljsf; tyf ljkGg ;xof]u sfo{sd 

1 ljkGg kl/jf/ wf/f h8fg ;xof]u sfo{sd 200000.00

2 ljkGg kl/jf/ ljB't h8fg ;xof]u sfo{sd  50000.00

3
ljkGg, ;'Ts]l/ ,Pr=cfO=le=P8; ;+sldt , cfs:dLs :jf:Yo 

pkrf/ ;xof]u sfo{sd,;xof]u sfo{sd , dlxnf :jo+ ;]ljsf 
150000.00

h ljkb Joj:yfkg 

1 dxfdfl/sf ?ksf km}lnPsf] z+v]ls/f Joj:yfkg 25000.00

2 la?jf 6f]n e'g-hldg ef;LPsf]_/f]s yfd 30000.00

dm lzIff tkm{ 

1 b/}7f6L df=lj= rf}tf/L lgdf{0f 60000.00

2 gj b'uf{ df=lj= 50000.00

` afnaflnsf tkm{ 

1 5fqj[lQ ;xof]u sfo{{sd 40000.00

6 h]i7 gful/s tkm{ 

1 h]i7 gful/s ;Ddfg sfo{{sd  50000.00

7 dlxnf tkm{ 

1 b'gf 6k/L tflnd tyf d]l;g vl/b 50000.00

2 b'uf{ dlGb/ 25000.00

3 sflnsf dlGb/ kfs{ u}6f/ 25000.00

4 sflncfk k|ltIffno lgdf{0f 50000.00

5 k'j[6f/ kfs{ lgdf{0f KofSn's cfdf ;d'x 25000.00

8 hghflt tkm{ 

1 u8fxf k|ltIffno lgdf{0f 50000.00

2 e'h]n kfs{ k|ltIffno lgdf{0f 50000.00

9 blnt tkm{ 

1 blnt ;zlQs/0f ljljw sfo{sd ;~rfng 50000.00

0f o''jf tkm{ 

1 v]ns'b tyf ;fdfu|L ljt/0f 75000.00

t ;f+:s[lts ;+/If0f

1 /fdk'/ ehgs[tg d08nL 25000.00

y j8f sfof{no Joj:yfkg 

1 j8f sfof{no Joj:yfkg ÷kf6];g 50000.00



b s[lif tkm{

1 cu'jf s[ifs k'/:s[t sfo{s|d 25000.00

w ckfËtf 

1 ckfËtf ;DalGw ljleGg sfo{s|d 25000.00

s"n hDdf ljlgof]lht ah]6 ? 3000000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s= ef}lts k'jf{wf/ af6f] lgdf{0f tkm{

1 b/} cfFk b]lv dn]Ë v]t tNnf] af6f] af6f] u|fa]n  50000.00

2

ld;g6f/ b]lv s7fg x'b} u}6f/ ;Dd / lzjfno rf]s 

jf6 gx/sf] l9s x'b} rf/ g+= zfvf ;Dd 
50000.00

3

cldlnsf] km]baf6 /fdk|;fb k+u]lgsf] 3/ x'b} k'j{6f/ 

b]lv a6f/] cfFk ;Ddsf] af6f] u|fa]n 
50000.00

4

/ftdf6f l/Ë/f]8 ob'/fh k+u]lgsf] 3/ b]lv b/} cfFk 

;Ddsf] af6f] u|fa]n 
50000.00

5

ls;fgafl/ df]xf]l6 urf}{lb x'b} ;k{/fh ;Ddsf] af6f] 

u|fa]n tyf ;kmfO 
100000.00

6

/ftdf6f ;fpg] wf/f x'b} lj?jf  ;Ddsf] uf]/]6f] af6f] 

dd{t 
20000.00

7

ls;fgafl/ a§f/ jf]l8ª x'b} df]xg e§/fO{sf] 3/  ;Dd 

/ ddm'jf s'nf] kfl/ s7fg sf] af6f] ;Dd u|fa]n
150000.00

8 ljleGg 7fpdf cfjZos kg]{ x]DkfOk vl/b 200000.00

9

lj=lk=kfs{ b]lv uf]/] sfld rf}tfl/ x'b} bf]Kk/] hf]8\g] 

jf6f]  
200000.00

10 klZrd 6f/ b]lv u}6f/ hf]8\g klZrd af6f] 50000.00

11

;k{/fh ,ljs|lDb x'b} df}nfsflnsf dlGb/ ;Ddsf] jf6f] 

;kmfO 
100000.00

12

;k{{/fh  x'b} e~HofËafl/ df}nfsflnsf  ;Ddsf] jf6f] 

;kmfO 
55000.00

13
;k{{/fh 7s'l/ ufpF x'b} t];f{ ;Dd gofF 6ofs vf]Ng] 100000.00

14

kbd 6fl/ cfd8fF8f af6f] dd{t ub}{ t];f{ ;Ddsf] af6f] 

dd{t 
25000.00

15  l;dnu}/f ufxf vf]N;L df]=af= lgdf{0f 25000.00

v vfg]]kflg tkm{ 

1

 cf};] vfg]kflg tNnf] dflyNnf] ,sfNr] cf]8f/ ,;f? 

8f8f If]qL ufpF 5f/f kflg  vf=kf= dd{t 
200000.00

2

j[xt vf=kf= wf/f h8fg sf] nflu ljkGg 3/ kl/jf/ 

;xof]u cg'bfg 
100000.00

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+= & sf] j8f ;ef af6 

l:js[t eO{ cfPsf of]hgfsf] laa/0f M
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3

csnf k|f=lj= uf]nsf6] sfldufpF , jfx'G8f8f ,vGhl8, 

jfUn] wf/f ,r'jfl8 ;fgf] wf/f s'dfn 6fl/ ;fpg] wf/f 

nufotsf ;fgf s'jf tyf wf/f kw]/f dd{t 

200000.00

u l;+rfO{ tkm{ 

1 lkkn6fl/ s'nf] dd{t 25000.00

2 ;'vf}/f v]t s'nf] lgdf{0f 50000.00

3 3f/] s'nf] dd{t 25000.00

4 kGw|| d'/] j]njf]6] s'nf] dd{t 25000.00

3 s[lif tkm{ 

1 Joj;flos s]/f tyf ;'Gtnf v]lt cfd8fF8f 50000.00

2
Joj;flos kz'kfng jªu'/ ,afv||f kfng jfx'g8f8f 50000.00

3 c+ln;f] v]lt afx'g8f8f 50000.00

4

ljkGg tyf blnt ;d'bfosf] nflu Joj;flos t/sfl/ 

v]ltnfO{ k|f]T;fxg ug]{
100000.00

ª e' ;+/If0f tyf t6aGw tkm{ 

1 s7fg dflyNnf] s'nf]df afFw t6aGw hfln 15000.00

2 lj=lk= kfs{ b]lv btf}ln vf]nf ;Ddsf] gfln dd{t 50000.00

r nlIft tkm{ 

1

r]tglzn dlxnf ;d'x vf=kf=,jfOl/Ë,6«; sn/ tyf 

‰ofnsf] 9f]sfsf] nflu 
50000.00

2 sNof0fsfl/ gf=;=s] cfd8fF8f 50000.00

3 kl/j{tglzn gf=;=s] df]x6L 30000.00

4
x/fe/f s{lif ;xsfl/ s[lif pkr s]Gb|sf] ejg dd{t  25000.00

5

hghfltsf] nflu cfjZos l;kd'ns Ifdtf 

clej[l2tflnd 
50000.00

6

blnt pTyfg sfo{sdsf] nflu cfly{s ldtJolotf tyf 

vr{ s6f}lt ;DalGw tflnd 
50000.00

7

nuglzn dlxnf ;d'xsf] ;ls|otfdf ;du| dlxnf 

;d'xsf] nflu Joj;flos tflnd Pj+ s[lif ljp 

ljhgsf] nflu 

50000.00

8

ckfËx?sf] nflu tYofÍ ;+sng ul/ ckfË kl/ro 

kqsf] Joj:yf ldnfpg] ;fy} ;';f/]ckfËx?sf] eQfsf] 

JojZyf ldnfpg]  

50000.00

9

c;fo tyf cgfy jfnjflnsfsf tYofÍ ;+sng ug]{ 

cfjZos lzIff :jf:Yosf] Joj:yf ldnfpg] 
25000.00

10

jfnSnjx?sf] ;ls|otfdf j8f leq /x]sf kmf]xf]/ 

Joj:yfkg ug{ tyf v]ns'b ;fdflu|sf] nflu 
50000.00



11

ls;fgafl/ cJojlZyt blnt ;d'bfosf] ;fd'bflos 

cf/g ;'wf/sf] nflu 
25000.00

12 k'j{6f/ gjb'uf{ jfn Snj ejg lgdf{0f 45000.00

5 wfld{s tyf ko{6g  tkm{ 

1 /fds'jfdf lgdf{0fflwg dlGb/ ;DkGg ug{ 50000.00

2 j8f bz} / r}t] bz}sf] k'hf Joj:yfkg ug{

2.1 df}nfsflnsf dlGb/ d'l8vf]k 15000.00

2.2 csnf sflnsf jfx'g8f8f 10000.00

2.3

ljZjsdf{ dlGb/sf] ‰ofn 9f]sf /Ë/f]ug tyf d'lt[ 

k|lt:yfkgsf] nflu 
50000.00

2.4

wdf]{bo bzfjtf/ jfngsf] ;fp08l;:6d ;fdfu|L 

vl/bsf] nflu 
30000.00

h ljljw tkm{

1 ljho k|f=lj df k|ltIffno lgdf{0f 50000.00

3 cWoog cjnf]sg e|d0f 80000.00

4 3/ w'l/ tYofÍ ;+sng 50000.00

s"n hDdf ljlgof]lht ah]6 ? 3000000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s j8f :tl/o of]hgf+

1

hfgsL cfwf/e't vf=kf dfyLjf/L s'jf u'?Ë ufp s'jf 

kf]v/]n s'jf
50000.00

2 kmn]bf] vf=kf of]hgf 90000.00

3 efn'6f/ vf=kf of]hgf 50000.00

4 lrb] kw]/f] kNnf] 8f8f s'jf OG6]s kf]v/L / lj=lk cfbz{ 

vf=kf of]hgf

60000.00

5 cfkrf}/ 7'nf] kw]/f] vf=kf of]hgf 60000.00

6 dflyNnf] s'D/fË k}gLv]t vf=kf lgdf{0f of]hgf 60000.00

7 j6Djf gofjf/L v';f{gL8f8f jgkfn] vf=kf lgdf{0f of]hgf
100000.00

8

h?jfwf/f vf=kf,efis/] vf=kf,rgf}6] sf]vf vf=kf,l;:g] 

d'xfg vf=kf,cfd6f/Lwf/f vf=kf vf]nfv]t vf=kf of]hgf

100000.00

9 l;dnkfgL vf=kf 6+sL lgdf{0f 60000.00

10 wf/fkfgL PSn]6f/ kfOk vl/b

v af6f] j8f :tl/o of]hgf

1 a/fxf6f/ efis/] b]vL bf]efg af6f] dd{t of]hgf 50000.00

2 zflGt6f]n b]]vL 3f]t3ft] ;Dd gof 6«ofs vf]Ng] df]6/ jf6f]
50000.00

3

zflGt6f]n sf]n6f/ b]vL sf]/L8f]/ ;Dd,kNnf] a/fxf6f/ b]vL 

u}6f/ hf]8\g] df]6/ af6f] dd{t / xl/s[i0f b]vL a/fxf6f/ 

hf]8\g] df]6/jf6f] dd{t of]hgf

80000.00

4 /fgLaf; b]vL v]t x'b} kf6\g]jf/L hf]8\g] df]6/jf6f] lgdf{0f 

of]hgf

100000.00

5

cfd6f/L ;fpg]wf/f 6«ofs 

vf]Ng],/f6fdf6f,j];L6f]n,a]ne~ofË x'b} w}/]gL hf]8\g] 

df]6/jf6f] lgdf{0f / w}/]gL b]vL ;fpg] wf/f df]=af6f] dd{t

75000.00

6 jf3vf]/ b]vL PSn]6f/ hf]8\g] df]=af 80000.00

7

xl/s[i0f] PSn]6f/ :s'n df]=af,h}7f]s b]vL 

ltg3/]8f8f,lemld/],v}/]gL;Dd uf]/]6f] af6f] lgdf{0f / 

l;v/8f8f b]vL vfnLjg ;Dd uf]/]6f] af6f] lg{df0f

60000.00

8 cfkrf}/ b]vL dfemLufp ;Dd 6«ofs vf]Ng] 65000.00

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+=* sf] j8f ;ef af6 

l:js[t eO{ cfPsf of]hgfsf] laa/0f M



9 cfkrf}/ b]vL uf]v{nLufp ;Dd 6«ofs vf]Ng]]] 50000.00

10

vf]l/of3f6 b]vL lkknrf}/ k|ltIffno ;Dd,nfd6f/ b]vL 

lh/f];Dd dd{t,s6x/6f/ k'5f/ b]vL v}/]gL lsgf/ ;Dd 

af6f] lgdf{0f

80000.00

11

ldngrf]s b]vL k|:tfljt j8f sfof{no k'nrf]s b]vL 

vgfn 8x/ ;Dd af6f] dd{t of]hgf
100000.00

12

cfd6f/af6 v]tsf] k'5f/ x'b} kNnf]6f/ ;Dd af6f] 6«ofs 

vf]Ng]
70000.00

13 /fdbo vf]N;f b]vL l;4jfjf hf]8\g] gof 6«ofs vf]Ng] jf6f]
70000.00

14 kf08] rf}kf/L j]n3f/L gof 6«ofs vf]Ng] af6f] lgdf{0f
50000.00

15 wf/]v/s uf]/]6f] af6f] lgdf{0f 65000.00

16 em]?5fk d>fËL 8x/ df]=af= lg{df0f 50000.00

17 cfFkrf}/ kw]/f df]=af= lg{df0f of[hgf 50000.00

u j8f :tl/o l;+rfO{ of]hgf

1 /08vfn s'''''nf]] dfemwf/]f] emx/] dd{t 100000.00

2

rgf}6] s'nf] dd{t,tNnf] vf]nfv]t cfn] wf/f] d'gL s'nf] 

dd{t
90000.00

3

a/]{ s'nf] PSn]6f/ afb'/] klZrd kl§ s'nf] / wg;f/] s'nf] 

dd{t
50000.00

4

cfFkrf}/ tNnf] dflyNnf] ab'jf v]t afFw lgdf{0f,an]{bL 

s'nf],cfFkrf}/ lxpb] l;rfO{,s6'jf / lbp/f s'nf] afFw 

lgdf{0f

70000.00

5 vx/] v]t,lxpb] l;+rfO s'nf] dd{t 60000.00

6 vx/] hf]uL8f8f s'nf] dd{t 60000.00

7 jfË]vf]nf j6Djf tNnf] s'nf] dd{t 50000.00

8 5ltpg] v]t 6+sL lgdf{0f 60000.00

9 kmn]bf] v]t l;+rfO{ of]hgf 50000.00

10 s6'jf v]t l;+rfO{ s'nf] dd{t-PSn]_ 50000.00



3 vfg]kfgL of]hgf

1 wf/fkfgL PSn]6f/ kfOk vl/b 50000.00

2 sfdLufp,l;'v/8f8f / h}7f]s vfg]kfgL kfOk vl/b 50000.00

3

uf]v{nLufp,kv]/f ;f?ufp vfg]kfgL kfOk vl/b / ltgsGg] 

6+sL lgdf{0f tyf kfOk vl/b of]]hgf
50000.00

4 em]?5fk v/s vf=kf kfOk vl/b 65000.00

5 9'Ëfgfufp vf=kf kfOk vl/b 50000.00

6 9'8Lu}/f vf=kf dd{t of]hgf 65000.00

ª j8f :tl/o ljB't of]hgf

1 k'lg{3f / vf]nfv]t ljB't lj:tf/ of]hgf 80000.00

r kf}jf k|ltIffno j8f :tl/of of]hgf

1 cDbfxf bf]efg kf}jf lgdf{0f 50000.00

2 afwvf]nf kf}jf lgdf{0f 70000.00

3 efn'6f/ kf}jf lgdf{0f 50000.00

4 s'D/fË rf}kf/L tyf k|ltIffno lgdf{0f 75000.00

5 Jofj;flos s[lif tyf kz'kfng 

1 cg'udg tyf cjnf]sg e|d0f 50000.00

h e}k/L cfpg] vr{ tyf ljljw vr{

1 /f=g=kf * zfvf af6f] dd{t ;Def/ 50000.00

em nlIft ju{ j8f :tl/o

1 dlxnf Ifdtf lasf; sfo{s|d 100000.00

2 blnt pTyfg sfo{s|d 80000.00

3 hghftL ;zlQms/0f sfo{s|d 50000.00

4 jfnjflnsf af}l2s lasf; sfo{s|d 50000.00

5 ckfË l;kd'ns tflnd 50000.00

s"n hDdf ljlgof]lht ah]6 ? 3500000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s vfg]kflg •

1

af]xf]bL{, hAufbL, 7f+l6e~HofË, argu}/f, kfxfbL{, 

;'qe~HofË, hf]uL8f+8f, ca{l;+, ;]ldv/s 6+sL dd{t 115000.00

2

:ofkm'{ª\bL vf=kf= of]hgfsf] ;flas j8f ejgsf] dfly 6+sL 

lgdf{0f, lkkn6f/L vf=kf= O{G6]s lgdf{0f, a]3nfbL vf=kf= 

dd{t 

140000.00

3 a/e~HofË dflyNnf] wf/fbL vf=kf= 6+sL lgdf{0f 120000.00

4

hAufbL ;fa{hlgs zf}rfno, dblg u}/f vf=kf= tNnf] 

af]xf]bL{ vf=kf= dd{t

85000.00

v df]6/af6f]

1

dG5]n'Ë, ;'o{yfg, lryfu}/f, ;fl7kfO{nf ejg x'+b} a/kf]v/f, 

l;/SbL nflDbv/s / af+wvf]]nf df]6/af6f] dd{t

430000.00

2

hAufbL, 7f+6Le~HofË, dw'sf]6 x'+b} ;]+lu8x/ df]6/af6f] 

dd{t

160000.00

3 hAufbL ;f]lt8f+8f, cf+kv/s df]6/af6f] :t/f]Gglt 200000.00

4 af3vf]/ b]lv t'?lGb ;Dd hfg] df]/af6f] dd{t 50000.00

5 :jfld8f+8f b]lv sf]68f+8f hfg] df]6/af6f] :t/f]GgtL 105000.00

6

dNnsf] 3/dfly 8f+8f b]lv lkn'jf afx'guf+pm df]6/af6f], 

a/e~HofË rlG8yfg df]6/af6f] dd{t 

70000.00

7

hAufbL :jfld8f+8f b]lv cf+kau}+rf, jf8{ejg, kfNg]ag, 

l/kfxf hfg] df]6/af6f] 

120000.00

8

?› sfˆn]sf] 3/b]lv e';fn uf+pm x'+b} vNn'df hfg] 

df]6/af6f] lgdf{0f 

105000.00

u lzIff 

1 >L hgzflGt df=lj=ca{l;+ kflg 6+ls 120000.00

2 >L efg"eSt df=lj= hAuflb kmlg{r/ vl/b 120000.00

3 >L lzå k|f=lj=dw'sf]6 zf}rfno lgdf{0f 50000.00

4 >L k|ultlzn k|f=lj=dG5]\n'Ë e'+O{ a;fO{ Aoa:yfkg 50000.00

5 >L hglxt k|f=lj=nflDbvf]nf 3]/faf/ lgdf{0f 50000.00

3 l;+rfO{

1 dGtfxf 8f]+u]/x s'nf] lgdf{0f 50000.00

2 s'8'n] s'nf] / bzd'/] af+w lgdf{0f 50000.00

/fdk'/ gu/kflnsfsf]] cf=a=)&$÷)&% sf nflu j8f g+= ( sf] ldlt @)&$÷)%÷!% ut] hAuflb df 

a;]sf] j8f:tl/o e]nfaf6 l:js[t ePsf of]hgfx?sf] laa/0f



ª ;+:yfut ÷nlIft ;d'x 

1 jf8{ g+= ( sf dlxnf ;d'x 250000.00

2 jf8{ g+= ( sf o'jf ;d'x 200000.00

3 ckfË d}qL sfo{qmd ;~rfng 30000.00

4 blnt d}qL sfo{qmd ;~rfng 20000.00

r ;+:s[lt ;+/If0f 

1

nfv]gfr, k~r]afhf, hfKrlb du/ u'di7f ;+:s[lt ;+/If0f 

AoA:yfkg 

60000.00

5 v]ns'b

1

ljleGg v]ns'b k|ltof]lutf sfo{qmd / nfs'/L 8f+8f 

v]nd}bfg dd{t

100000.00

h s[lif

1 ;'Gtnf / slkm v]lt la:tf/ / Aoa:yfkg 50000.00

em :jf:Yo

1 vf]k lSnlgs sf] nflu kmlg{r/ / :6]r/ vl/b 50000.00

~f
k|yd j8f kl/ifb, kl~hs/0f tyf tYof+s ;+sng / 

clen]lvs/0f 

50000.00

s"n hDdf ljlgof]lht ah]6 ? 3000000.00



s|=;= of]hgfsf] gfd ljlgof]lht /sd ?= s}lkmot

s ko{6g

1 jb{n] kfs{ s'df/L dlGb/ rf]s 50000.00

2 Hjfnf b]aL dlGb/ jf6/ km08]zg 100000.00

v lzIff

1 jfnl;4 k|fla sf]7f dd{t of]hgf 50000.00

2 gjhfu[lt k|fla ejg dd{{t of]hgf 50000.00

u vfg]kfgL tyf ;/;kmfO{ 

1 du/] vf=kf=6+sL dd{t of]hgf 50000.00

2 w/dkfgL vf=kf=dd{t of]hgf 200000.00

3 cwdf/f a]naf/L a]ne~Hofª vf=kf= 50000.00

4 xl6of vf=kf=dd{t of]]hgf 50000.00

5 t'/t'/] RofªnLª vf=kf= dd{{t 50000.00

6 wf/f u}/f vf=kf=6+sL lgdf{0f of]hfgf 50000.00

7 tNnf]] s'dfn ufFp 7"nf] kw]/f / lrnfpg] u}/f vf=kf= dd{t 50000.00

8 gjhfu[tL /fx'8f8f vf=kf=dd{t of]hgf 50000.00

3 ;:s[lt k|a{4g 

1 hghflt sfo{s|d 50000.00

2 blnt hftL sfo{s|d 50000.00

ª v]]ns'b tyf dgf]/~hg 

1 j8f :tl/o ;"o{uf}8f v]ns'b d}bfg lgdf{0f 100000.00

2 jb{n] ldgL v]n d}bfg of]hgf 50000.00

3

6f]n :tl/o elnjn u|fp08- xf]:bL du/] kfg;o ab{n] 

cwdf/f df}nfy/ lkkne~HofË kNofª 5fkrf}/ , af3vf]/ 

l;sf]8f8f sfe|]3f/L  / RofËlnË

200000.00

4 6f]]n :tl/o v]ns'b sfo{s|d 50000.00

r n}+lus ;dfgtf tyf ;dfa]zLs/0f 

1 h]i7 gful/s ;Ddfg sfo{s|d -@) hgfnfO{_ 50000.00

2 dlxnf zlQms/0f sfo{s|d 100000.00

3 afnaflnsf af}l4s lasf; sfo{s|d 25000.00

4 ckfËtf ;DalGw sfo{s|d 25000.00

k"af{wf/ lasf; tkm{ 

5 :yfgLo ;8s

1 la/sf]6 u]]emf ab{n] df]=af=dd{t of]hgf 100000.00

2 ;"o{uf}8f /fx'8f8f 5fk la/sf]6 ;8s dd{t of]]hgf 100000.00

3 buf{ dlGb/ af3vf]/ nDkfn df]=jf=dd{t 100000.00

/fdk'/ gu/kflnsf sf] cf=a= @)&$.)&% sf] nflu  j8f g+=!) sf] j8f ;ef af6 

l:js[t eO{ cfPsf of]hgfsf] laa/0f M



4 af3vf]/ a/e~HofË lrbLkw]/f] Rofªlnª df]=jf=dd{t 100000.00

5 s§L s'dfn ufFp /fd6f/ ;8s 150000.00

6 u}/faf/L / l;sf]8f8f dWodfu{ lgdf{0f tyf dd{t 50000.00

7 6f}}Ghf dnf}6]3f6 u}/faf/L df]=jf= 50000.00

8 ab{n]] rDkm] ;8s dd{t tyf la:tf/ 50000.00

9 kfg;o clkm;6f]n ab{n] 9fj s6'jf df]=jf= dd{t 100000.00

10 kfg;o cSofg r'Sofx x'b} /fx'8f8f cr{n] # vf]N;L dd{t 50000.00

11 /fx'8f8f Psn] rf}/ df]=af= dd{t 50000.00

12 d'8'nL e~HofË 6f]S;] df]=jf=dd{t 50000.00

13 wf/f u}/f 5fk -6fF8L _ af6 kNofË kg]{wL{ df]=jf=dd{t 250000.00

h l;+rfO{ 

1 a]N6f/ s'nf] dd{t of]hgf 100000.00

2 6f/L s'nf] dd{t of]hgf 100000.00

3 l;sf[]8f8f gx/ zfvf dd{t of]hgf 100000.00

4 h]7f] s'nf] dd{t of]hgf 100000.00

5 u'x'/ s'nf] 6+sL tf/jf/ 50000.00

6 v/s s'''nf] dd{t 50000.00

7 la?jf s'nf] dd{t 50000.00

8 lr;fkfgL ju/ s'nf] dd{t of]hgf 50000.00

9 xf]:bL dflyNnf] s'nf] -6f/L_ 50000.00

10 sfe|3f/L s'nf] dd{t of]hgf 50000.00

11 dflxnf] s'nf] dd{t of]hgf 50000.00

em ;:yfut lasf; , ;]]jf k|afx / ;'zf;g

:yfgLo tYofËs ;+sng clen]v 

1 j8f :tl/o k|f]kmfOn lg{df0f 50000.00

s"n hDdf ljlgof]lht ah]6 ? 3500000.00


